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QUESTION 1

Which of the following are examples of interactive communication? Each correct answer represents a complete solution.
Choose all that apply. 

A. Video Conferencing 

B. E-mail 

C. Fax 

D. Phone call 

Correct Answer: AD 

 

QUESTION 2

John works as a Voice Technologies Administrator in PassGuide.com. He configured a PBX system for his company.
Now, he is facing problems related with Call setup, routing and management. The PBX system has some cards to
provide call distribution functions properly. 

Which of the following cards will John check to resolve this problem? 

A. Control complex card 

B. Flash card 

C. Line card 

D. Trunk card 

Correct Answer: A 

 

QUESTION 3

Which of the following is the broadcast address for all nodes on a TCP/IP network? 

A. 1.1.255.255 

B. 192.168.1.1 

C. 10.1.1.1 

D. 255.255.255.255 

Correct Answer: D 

 

QUESTION 4
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Which of the following is a signaling protocol? 

A. NTP 

B. SIP 

C. STP 

D. VTP 

Correct Answer: B 

 

QUESTION 5

Which of the following is an implementation of the media gateway control protocol architecture for controlling Media
Gateways on IP and PSTN networks? 

A. H.248 

B. SIP 

C. H.323 

D. RTCP 

Correct Answer: A 
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